V L o Y
www.ps.bam.de/IE81/10B/B81EOONP.PS/.PDF; start output
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)

L*/Y+Yr 18,0/25 23,1/38 282/55 333/7,7 385/10,3 43,6/13,6

(absolute)

No. and
Hex code

[*
CIELAB, r
(relative)

Picture C3: 16 visual equidistalit-grey steps; Use of the PS oper&i00n* setcmykcolor
L*/Y+Yr 18,0/25 23,1/38 28,2/55 333/7,7 385/10,3 43,6/13,6

(ELED] )]

0,000 0,067 0,133 0,200 0,267 0,333

No. and
Hex code

[*
CIELAB, r
(relative)

Picture C3: 16 visual equidistalit-grey steps; Use of the PS operatdrsetgray
L*/Y+Yr 18,0/25 23,1/3,8 28,2/55 33,3/7,7 38,5/10,3 43,6/13,6

(absolute)

0,000 0,067 0,133 0,200 0,267 0,333

No. and
Hex code

WLH T83Q/183Q/ap weq sd mmm//:dny :sa|lj Je|iwis 10} 89S
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[*
CIELAB, r
(relative)

Picture C3: 16 visual equidistalit-grey steps; Use of the PS operaton0* setcmykcolor
L*/Y+Yr 18,0/25 231/38 282/55 333/7,7 385/10,3 43,6/13,6

(absolute)

0,000 0,067 0,133 (02{0]0] 0,267 0,333

w'w

No. and
Hex code

I*
CIELAB, r

(relative) 0000 0067 0133 0200 0267 0,333

48,8/17,4 54,0/21,9 59,1/27,2 64,3/33,2 69,5/40,0 74,7/47,8 79,8/56,5 SHLAIELIL 95,4/88,6

0,400 0,467 0,533 0,600 0,667 0,733 0,800 0,867 0,933

48,8/17,4 54,0/21,9 59,1/27,2 64,3/33,2 69,5/40,0 74,7/47,8 79,8/56,5 807663l 9%,4/88,6

0,400 0,467 0,533 0,600 0,667 0,733 0,800 0,867 0,933

48,8/17,4 54,0/21,9 59,1/27,2 64,3/33,2 69,5/40,0 74,7/47,8 79,8/56,5 SH07M&G3L 9%,4/88,6

0,400 0,467 0,533 0,600 0,667 0,733 0,800 0,867 0,933 1,

4dd’/Sd'dN003T849/90T/T831-TOTOE00Z :uonensibal Nvd

sJajuud pue siojuow Joy uonesldde

48,8/17,4 54,0/21,9 59,1/27,2 64,3/33,2 69,5/40,0 74,7/47,8 79,8/56,5 SHA7M&3L 9%,4/88,6

0,400 0,467 0,533 0,600 0,667 0,733 0,800 0,867 0,933 1,

9p09 :eudrew \vg

|

Picture C3: 16 visual equidistalit-grey steps; Use of the PS operatovw* setrgbcolor
- ) . ISO/IEC 15775 and input: mixture (m) of PS o erators-:|
-j':'g' C3 of ISO/IEC-test chart no. 3; DIS ISO/IEC 19839-Xputput:no change compared to input
Y L V



